

September 26, 2022

VIA RESS

Ontario Energy Board P.O. Box 2319 2300 Yonge Street, 27th Floor Toronto, ON M4P 1E4 **Attention: Registrar**

Dear Ms. Marconi:

Re: Framework for Energy Innovation: Distributed Resources and Utility Incentives Board File No.: EB-2021-0118

We are counsel to Electric Vehicle Society (**EVS**) in the above-noted consultation (the **Consultation**). Further to the Board's Notice of Hearing dated September 12, 2022, please find enclosed EVS's cost claim in respect of the Consultation.

EVS respectfully requests an award of 100% of its eligible costs. EVS participated effectively and efficiently in all aspects of the Consultation, taking a surgical, principled, and coordinated approach to its preparation for and attendance at the working group meetings all to assist the Board with respect to the Consultation.

Sincerely,

DT Vollmer

c. Cara Clairman Wilf Steimle

Encl.

EB-2021-0118 : 2 : Monika Pecnikova

SUBMISSION DEADLINE DATE **CLAIM STATUS COST CLAIM NUMBER**

September 26, 2022 Approved by Finance 665

EB# OTHER EB#S PHASE #* 2

EB-2021-0118: Initiatives: Regulatory Direction

and Oversight: Ontario Energy Board

INTERVENOR COMPANY* **INTERVENOR**

INTERVENOR TYPE Electric Vehicle Society, Orillia: Pecnikova, Monika; +1 (647) 971-6771 Corporation Full Registrant monika@resilientllp.com

EXCHANGE RATE COUNTRY HST RATE ONTARIO

13.00

LATE SUBMISSION ALLOWED EXTENSION DEADLINE DATE HST NUMBER

79471 3495 RT0001

<u>PARTI</u>	<u>CIPANTS</u>			Dantialnant
New	Non-Filing Participant First, Last Name	Filing Participant	Total (\$)	Participant Claim Status
No	,	DeMarco, Lisa (Elisabeth) ; +1 (647) 991-1190 lisa@resilientllp.com	447.48	Submitted
No	ı	McGillivray, Jonathan; +1 (647) 208-2677 jonathan@resilientllp.com	1,195.54	Submitted
No	ı	Vollmer, Daniel; +1 (647) 993-6338 daniel@resilientllp.com	806.82	Submitted
No	,	Clairman, Cara; +1 (647) 717-6941 cara@plugndrive.ca	23,492.72	Submitted

Attachment Document Claim **Import** Date Type Type Message **Attachment Participant** EVS EB-2021-0118 Cost Claim 092620221317.pdf EVS_Cvr Ltr_FEI_20220926.pdf Cover

TOTAL LEGAL/CONSULTANT/OTHER FEES TOTAL DISBURSEMENTS TOTAL HST 22,958.00 2,984.56 0.00

Letter

TOTAL CLAIM TOTAL AMOUNT AWARDED

25.942.56

ATTACHMENTS

REASON FOR REASON FOR **REASON FOR** DISALLOWANCE **DISALLOWANCE - 2 DISALLOWANCE - 3**

MAKE CHEQUE PAYABLE TO

Resilient LLP

SEND PAYMENT TO ADDRESS ATTENTION

333 Bay Street, Suite 625

Toronto, ON M5H 2R2

SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY DATE SUBMITTED Daniel Vollmer September 26, 2022

Lisa (Elisabeth) DeMarco

CASE **COST CLAIM**

EB-2021-0118:2: Monika

Regulatory Direction and Oversight: Ontario Energy Board

EB-2021-0118: Initiatives:

Pecnikova

INTERVENOR NAME

Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com **PARTICIPANT CLAIM STATUS**

Submitted

NEW NON-FILING FILING PARTICIPANT

No

DeMarco, Lisa (Elisabeth); +1 (647) 991-1190

lisa@resilientllp.com

HEARINGS

PARTICIPANT

PARTICIPANT F. NAME

NON-FILING

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE YEAR CALLED TO BAR **COMPLETED YEARS HOURLY RATE**

Legal Counsel 1997 PRACTICING/YEARS OF 330

RELEVANT EXPERIENCE

DISBURSEMENTS

25

CV STATUS (FOR HST RATE CONSULTANT/ANALYST) **LAST CV DATE CHARGED** 13.00

CV Provided within Previous 24 February 23, 2022 Months

CONSULTATIONS

Yes No No

CONSU	JLT	ΔTI	ON

<u>Description</u>	Maximum Ho	<u>urs</u>	Hourly Rate	<u>Sub</u> Total	HST Rate	<u>HST</u>	<u>Total</u>
Written comments on FEIWG Report to the OEB (and sub-group reports)	10.00	1.20	330	396.0	0 13.00	51.48	447.48
Consultation Total Total Legal/Consultant Fees				396.0	0	51.48	447.48

Attachments

Attachment Document Type Import Message

Lisa Time Docket

DeMarco_TimeDockets_EVS_EB-2021-0118

.pdf

<u>Attachment</u>

Related Disbursement Claim

Lisa DeMarco_TimeDock ets_EVS_EB-2021-0 118.pdf **Document**

Type Claim Type

Import Message

Time Docke Consultations

Туре	Date	Hours	Description	Rate (\$	Billable (\$)	User	Bill number
Time entry	2022.09.01	0.4	Instructions to J. McGillivray and D. Vollmer;	330	\$132.00	L. DeMarco	22202
Time entry	2022.09.02	0.8	Review and revise draft comments;	330	\$ 264.00	L. DeMarco	22202
		1.2					

Jonathan McGillivray

CASE COST CLAIM

EB-2021-0118:2: Monika

Pecnikova, Monika; +1 (647)

INTERVENOR NAME

PARTICIPANT CLAIM STATUS

EB-2021-0118: Initiatives: Regulatory Direction and

Pecnikova

Submitted

Oversight: Ontario Energy Board

971-6771 monika@resilientllp.com

FILING PARTICIPANT

McGillivray, Jonathan; +1 (647) 208-2677

jonathan@resilientllp.com

NEW **PARTICIPANT**

No

NON-FILING PARTICIPANT F. NAME **NON-FILING** PARTICIPANT L. NAME

SERVICE PROVIDER TYPE

Legal Counsel 2017

YEAR CALLED TO BAR

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE** **HOURLY RATE** 230

HST RATE

CHARGED

13.00

CV STATUS (FOR

CONSULTANT/ANALYST) CV Provided within Previous 24

Months **HEARINGS** No

LAST CV DATE February 24, 2022

Yes

CONSULTATIONS DISBURSEMENTS

No

CONSULTATION

Description Maximum Hours Hourly HST Sub **Hours** Rate **Total** Rate **HST Total** Written comments on FEIWG Report to the 10.00 4.60 230 1,058.00 13.00 137.54 1,195.54 OEB (and sub-group reports) **Consultation Total** Total Legal/Consultant Fees 1,058.00 137.54 1,195.54

Time Docket

Attachments

Attachment Document Type Import Message

Jonathan McGillivray_TimeDockets_EVS_EB-2021-011

8.pdf

Attachment

Related Disbursement Claim

Jonathan McGillivray_TimeDo ckets_EVS_EB-2021 -0118.pdf

Document

<u>Type</u> Claim Type **Import Message**

Time Docke Consultations

Type	Date	Hours Description	Rate (\$) Billa	ıble (\$)	
Time entry	/ 2022.04.13	1.7 Attend and participate in joint OEB/IESO stakeholder engagement session;	230 \$	391.00	
Time entry	/ 2022.07.08	0.9 Review FAI WG report;	230 \$	207.00	
Time entry	/ 2022.09.01	0.8 Review/revise draft comments on FEI WG Report and communications with client re same;	230 \$	184.00	ı
Time entry	2022.09.02	1.2 Review/revise draft comments on FEI WG Report and communications with client re same;	230 \$	276.00	
Total		4.6			

User Bill number
J. McGillivray 22174
J. McGillivray 22202
J. McGillivray 22202
J. McGillivray 22202

Daniel Vollmer

CASE **COST CLAIM**

EB-2021-0118:2: Monika

Regulatory Direction and Pecnikova

Oversight: Ontario Energy Board

EB-2021-0118: Initiatives:

INTERVENOR NAME

Pecnikova, Monika; +1 (647)

971-6771 monika@resilientllp.com

PARTICIPANT CLAIM STATUS

Submitted

NON-FILING

NEW **NON-FILING FILING PARTICIPANT**

No

LAST CV DATE

Yes

Vollmer, Daniel; +1 (647) 993-6338

daniel@resilientllp.com

PARTICIPANT

PARTICIPANT F. NAME

PARTICIPANT L. NAME

SERVICE PROVIDER TYPE YEAR CALLED TO BAR

Legal Counsel

COMPLETED YEARS 2020 PRACTICING/YEARS OF **HOURLY RATE** 170

HST RATE

CHARGED

13.00

RELEVANT EXPERIENCE

CV STATUS (FOR CONSULTANT/ANALYST)

No

CV Provided within Previous 24 Months

HEARINGS

February 23, 2022 **CONSULTATIONS DISBURSEMENTS**

No

CONSULTATION

<u>Description</u>	Maximum Ho	urs	Hourly	<u>Sub</u>	<u>HST</u>		
	<u>Hours</u>		<u>Rate</u>	<u>Total</u>	<u>Rate</u>	<u>HST</u>	<u>Total</u>
Written comments on FEIWG Report to the OEB (and sub-group reports)	10.00	4.20	170	714.0	00 13.00	92.82	806.82
Consultation Total Total Legal/Consultant Fees				714.0	00	92.82	806.82

Attachments

Attachment Document Type Import Message

Daniel Time Docket

Vollmer_TimeDockets_EVS_EB-2021-0118.p

df

<u>Attachment</u>

Related Disbursement Claim

Daniel
Vollmer_TimeDocket
s_EVS_EB-2021-01
18.pdf

Document

Type Claim Type
Time Docker Consultations

Import Message

Туре	Date	Hours	Description	Rate (\$)	Billa	able (\$)	User	Bill number
Time entry	2022.08.25	0.6	Prepare comments;	170	\$	102.00	D. Vollmer	22202
Time entry	2022.08.30	1.1	Prepare comments;	170	\$	187.00	D. Vollmer	22202
Time entry	2022.08.31	2	Prepare comments;	170	\$	340.00	D. Vollmer	22202
Time entry	2022.09.01	0.8	Prepare comments;	170	\$	136.00	D. Vollmer	22202
Time entry	2022.09.02	2.3	Prepare comments	170	\$	391.00	D. Vollmer	22202
Total		6.8						

Cara Clairman

CASE **COST CLAIM**

EB-2021-0118: 2: Monika

Pecnikova

Regulatory Direction and Oversight: Ontario Energy Board **INTERVENOR NAME**

Pecnikova, Monika; +1 (647) 971-6771 monika@resilientllp.com **PARTICIPANT CLAIM STATUS**

Submitted

NON-FILING

Clairman, Cara; +1 (647) 717-6941

cara@plugndrive.ca

FILING PARTICIPANT

NEW PARTICIPANT

NON-FILING PARTICIPANT F. NAME

PARTICIPANT L. NAME

HOURLY RATE

HST RATE

CHARGED

13.00

330

SERVICE PROVIDER TYPE

EB-2021-0118: Initiatives:

YEAR CALLED TO BAR

LAST CV DATE

March 01, 2022

No

COMPLETED YEARS PRACTICING/YEARS OF **RELEVANT EXPERIENCE**

25

CV STATUS (FOR

Consultant

CONSULTANT/ANALYST) CV Provided within Previous 24

Months

No

HEARINGS CONSULTATIONS

Yes

DISBURSEMENTS

No

CONSUL	TATION							
<u> </u>	<u>Description</u>	Maximum Ho Hours	<u>urs</u>	Hourly Rate	<u>Sub</u> Total	HST Rate	<u>HST</u>	<u>Total</u>
Consultation								
	FEIWG Meeting #12 - February 2, 2022 - Meeting Time x 1.5	4.50	4.50	330	1.485.0	0 13.00	193.05	1,678.05
	FEIWG Meeting #13 - March 9, 2022 - Meeting Time x 1.5	7.50	7.50	330	2.475.0	0 13.00	321.75	2,796.75
	FEIWG Meeting #14 - March 23, 2022 - Meeting Time x 1.5	8.25	8.25	330	2,722.5	0 13.00	353.93	3,076.43
	FEIWG Meeting #15 - April 13, 2022 - Meeting Time x 1.5	3.00	3.00	330	990.0	0 13.00	128.70	1,118.70
	FEIWG Meeting #16 - April 27, 2022 - Meeting Time x 1.5	8.25	8.25	330	2.722.5	0 13.00	353.93	3,076.43
	FEIWG Meeting #17 - May 11, 2022 - Meeting Time x 1.5	8.25	8.25	330	2.722.5	0 13.00	353.93	3,076.43
	FEIWG Meeting #18 - May 25, 2022 - Meeting Time x 1.5	6.00	6.00	330	1.980.0	0 13.00	257.40	2,237.40
	FEIWG Meeting #20 - June 22, 2022 - Meeting Time x 1.5	9.00	9.00	330	2.970.0	0 13.00	386.10	3,356.10
	FEIWG Meeting #21 - June 29, 2022 - Meeting Time x 1.5	8.25	8.25	330	2.722.5	0 13.00	353.93	3,076.43
Consultation	Total Total Legal/Consultant Fees				20,790.0	0 2	2,702.72	23,492.72

Attachments

<u>Attachment</u>

Cara Clairman Consulting Corp_Invoice 22002.pdf EVS_EB-2021-0118_Cara Clairman_Dockets_20220926.pdf

Document Type

Invoice

Time Docket

Import Message

Attachment
Cara Clairman
Consulting
Corp_Invoice
22002.pdf

0220926.pdf

Related Disbursement Claim

<u>Document</u>

<u>Type</u> <u>Claim Type</u> Invoice Consultations **Import Message**

Time Docke Consultations

EVS_EB-2021-0118 _Cara Clairman_Dockets_2

Type	Date	Hours	Description	Rate (\$	Billable	e (\$)	User	Bill number
Time entry	2022.02.02	4.5	Prepare for and attend on FEIWG Meeting#12;	330	\$	1,485.00	C. Clairman	22002
Time entry	2022.03.09	7.5	Prepare for and attend on FEIWG Meeting#13;	330	\$	2,475.00	C. Clairman	22002
Time entry	2022.03.23	8.25	Prepare for and attend on FEIWG Meeting#14;	330	\$	2,722.50	C. Clairman	22002
Time entry	2022.04.13	3	Prepare for and attend on FEIWG Meeting#15;	330	\$	990.00	C. Clairman	22002
Time entry	2022.04.27	8.25	Prepare for and attend on FEIWG Meeting#16;	330	\$	2,722.50	C. Clairman	22002
Time entry	2022.05.11	8.25	Prepare for and attend on FEIWG Meeting#17;	330	\$	2,722.50	C. Clairman	22002
Time entry	2022.05.25	6	Prepare for and attend on FEIWG Meeting#18;	330	\$	1,980.00	C. Clairman	22002
Time entry	2022.06.22	9	Prepare for and attend on FEIWG Meeting#20;	330	\$	2,970.00	C. Clairman	22002
Time entry	2022.06.29	8.25	Prepare for and attend on FEIWG Meeting#21;	330	\$	2,722.50	C. Clairman	22002

\$ 20,790.00

Cara Clairman Consulting Corp

Invoice # 22002

Date: September 23, 2022

Bill To

Electric Vehicle Society 265 Crawford Street Orillia, ON L3V 1J9

EB-2021-0118 Framework for Energy Innovation: Distributed Resources and Utility Incentives

Item Description	Amount
Feb 2, 2022 4.5H Prepare for and attend on FEIWG Meeting#12;	\$1,485.00
March 9, 2022 7.5H Prepare for and attend on FEIWG Meeting#13;	\$2,475.00
March 23, 2022 8.25H Prepare for and attend on FEIWG Meeting#14;	\$2,722.50
April 13, 2022 3H Prepare for and attend on FEIWG Meeting#15;	\$990.00
April 27, 2022 8.25H Prepare for and attend on FEIWG Meeting#16;	\$2,722.50
May 11, 2022 8.25H Prepare for and attend on FEIWG Mtg#17;	\$2,722.50
May 25, 2022 6H Prepare for and attend on FEIWG Meeting#18;	\$1,980.00
June 22, 2022 9H Prepare for and attend on FEIWG Meeting#20;	\$2,970.00
June 29, 2022 8.25H Prepare for and attend on FEIWG Meeting#21;	\$2,722.50

Subtotal
Tax Rate
Other Costs
Total Cost

\$20,790.00 13.00% \$23,492.72

Make all checks payable to Cara Clairman Consulting Corp.

Thank you for your business!